H.Geometry - Chapter 1 — Definition Sheet

Conditional Statement

A statement that is written in V? —+en form.

Mt o-polygon is o hexagon, then rinhas
exactly L gides.

Part of a conditional:
Antecedent and
Consequent

Antecedent: the “1f " part (not iﬁi\udﬁ\”\(jj £ >
consequent: e “then’' part (net incdluding then)

Part of a conditional:
Converse Statement

The _ YENECYSE  of a conditional (switch the antecedent and consequent)

s ——

***True conditional doesn’t always have a true converse

Bample: T 0. polygon Nas exactly Lsides, then
s a exagon .

*xTF x=3,1hen x%2=9 / Tf ¥*=9,then X=3 (oA

Biconditional Statement

A single statement formed from a true conditional and true converse.

°F conseguent)

Example: ) i
R polygon 1S ahnexagon TEF i has exachly o
sides.

Counterexample

An example of an object that meets the criteria specified but isn’t what you are
trying to define.

Proves the conditional/bi-conditional false.

Anoninn@l is o deg TFF it is & Passet hound .

R avadnlaieral {s a square TFF ithas 4 A° ang|es
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Steps to creating good
definitions.

w clossify your ferm —choradieristics
@) differentiate  Youv term- Qifferent dnovocieviar

TS oy 100KIng Tor COXNTEre -wvr\és 0s o condftio

\CS

o

Parallel Lines

Two lines are parallel IFF they are __ ([ ls )10 Gy and do not eysect .
Labeled with _ (A {DW €0 -L$ ) m
. n
/,‘//’7/{; / M //n

Skew Lines

Two lines are skew IFF they are _‘QDj‘_C_QP\Q[Q[_ and do not

ANersecy . i J'o.ndKOJC

'S

Perpendicular Lines

Two lines are perpendicular IFF they _\m_ ata_Y ]%\ )
ang (< : ,L

pra
\

>4 1t

>

AN angle is o rigntangle % i measLre

Right Angle \S ex \{ qbo i ’L
l Qo
Acute Angle AN Cmg\c IS an acute ox\g\e e its
mensure (s less thon A0° and greader Hhon 0
23&
> .
Obtuse Angle AN QYQ\C \S an Db‘\'USC O\YIQ\C \'Ff T\'S meas\ure \S

127°

greader tnan a0® and (ess tron (R0? R
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©
Complementary Angles | Two angles are complementary IFF the sum of their measures is C'D

M| =80° .
me2=[0° me | tmne)L =96

\ 4\ is complementayyto <2

°
Supplementary Angles | Two angles are supplementary IFF the sum of their measures is l%
‘N{\ 4 : -3445-“

(6= 2 ™

i = 135° .
32 N\ 4 mf'?’ et = B0
2315 supp\cnmmq’rb 4

Adjacent Angles otinboo | Two angles are adjacent IFF they share a common V@Y%X and one
common S\d@

NOTE: common side must be in the interior of the angle. \ it

Vertical Angles Two angles are vertical angles IFF they are formed by two _\m%_
lines and are not g;ggsggg et - .

4| and £3 axe vertical angleS

vevticod TAS ver: 4'
are = £2 ord & arve Vertical angleS. « S

Linear Pair of Angles Two angles form a linear pair IFF theyare __ (X L){ W\ d’ and the non-

shared sides form a S\"YDAQ‘N‘ e
NOTE: A linear pair is SUPI‘)\CWY




